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* Detects sounds such as glass breaking.

Anything that produces high decibel
change in a short period of time.
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as been tripped within its area of view.

* Typically detects people up to 30 feet

away.
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AMPLE CODE

begin
if resetn = " then
¥ == 8l; —- initial
else if {clock'sevent O = '1"'"} then
cagse y is
when sl =>
if pwc = '0' then y<= s31; end if;
if pwc = 'L' and alarm en = 'l' then y<=sI; end 1if;
when s =>
iE Tl = "'8" ; tZ2 =10 = '0"'" then v <= s2; end if;
E T nd t2 = '] and alarm en = '1' then y <= sl1; end if;
1E L1 t2 r end if;
if £l 1" ; t2 a : end if;
iE £l L' ; t2 = 11 : end if;
when s3 =>
if pwec ] ] <= 31; end if;
if £2 =
if £2 =
when s4 =>
if pwe = "1' am 1 ¥y <= 81; end if;
i tl.=
if £l =
when s5 =>
if pwe = '1 L 'I'then ¥ <= s81; end if;
end case;
end if;
end if;
end process;
Cutputs: process (y)
begin
cagse y is
when sl =
when
when
when
when
end case;
end process;







